2014 rop
Bcepoccuiickasn onvmnmaga WKONbHUKOB MO aHT IMACKOMY A3bIKY
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Listening 1

The Great Pacific Garbage Patch

Listen for main ideas.

Speaker: Where’s the world’s biggest collection of garbage? In the United States? In China? No. It’s in
the middle of the Pacific Ocean. In the Pacific Ocean there’s an area called the Northern Pacific Gyre.
Here ocean currents come together and move in a large circle. In this circular movement, the currents
collect garbage — lots and lots of garbage. People call it the Great Pacific Garbage Patch. And, ninety
percent of this garbage is plastic.

Where did all this garbage come from? Did boats come and throw it here on purpose? No. Eighty percent
of it comes from land. Garbage floats down rivers and streams and into the ocean. It comes from every
country whose shoreline touches the Pacific. Plastic bags are carried out to sea with the wind. Then the
ocean currents carry all of this garbage to the great garbage patch. Actually, there are two patches, an
eastern patch and a western patch.

A sailor named Charles Moore discovered the patches in 1997, when sailing near Hawaii. He suddenly
found himself travelling day after day through waters filled with garbage, most of it plastic. At that time,
he calculated that there were more than 3 million tons of plastic floating in water. At one point he found
the patch was 100 feet deep. In 2005, Moore estimated the size of the two patches together as 10 million
square miles, an area the size of Africa.

All of this garbage is hurting the environment. Plastics attract poisons like DDT and PCBs that are
already in the water. This is the serious danger to all kinds of marine life. Fish and seabirds often think
little pieces of plastic are a kind of food and they eat it. Scientists now often find plastic in the stomachs
of dead fish and birds. Plastic kills more than one million seabirds every year.

Most plastic is not biodegradable. That means it doesn’t go away. Almost all the plastic produced in the
world in the last 60 years is still in the environment. Scientists say that cleaning up the garbage patches is
impossible. The only thing that will help the situation at all is better control of waste on land. We need to
reduce the amount of plastic we produce and use. We must control the amount of wastewater that goes
into the ocean. We also have to keep beaches, in fact the whole shoreling, clean.

(A Pause - 20 seconds)

Listen for details (the repetition of the track)

(pause — 30 seconds )

Listening 2

Listen for main ideas

Polar Bears at Risk

Narrator: Here on Wrangler Island, a team of scientists watches three polar bears that grip the edge of the
ice. To these scientists, the polar bears’ fragile hold on the ice as the symbol of their slipping hold on a
disappearing world. Wrangel Island is a part of Russia, and is located in the Arctic Ocean. It is home to
one of the largest concentrations of polar bears in the world. The team of scientists has been doing
research on the polar bears in this area for more than a decade. They hope to gain knowledge from their
research that will help the polar bear in the future.

The information they have gathered so far is alarming . Their research suggests that not only is the
population of polar bears decreasing, but the size of the bears themselves is also decreasing. The scientists
have concluded that the polar bear is facing a crisis as a result of climate change. Their research shows
that climate change is having a devastating effect on the polar bear habitat — the ice.

Most people have read that the ice caps are melting because of climate change, but for most of us, this
problem feels very distant. But it is not for the polar bear. The polar bear is a creature of the ice. The ice
is its home. Its body is specially adopted to the cold, with a double layer fir and hollow hairs that work to
trap the animal’s body heat to keep it warm in the freezing temperatures. Pregnant polar bears build dens
in the ice, often far from dry land.



Polar bears also hunt on the ice, usually for ringed seals. Polar bears do not truly hibernate. They are
active year round. However, they can only hunt while there’s plenty of sea ice, during the winter and
early spring. To hunt, the bear usually finds an active breathing hole, a gap in the ice used by seals to take
a breath. The bear crouches above the breathing hole, and as soon as seal surfaces, the bear dashes to the
hole and drags the seal out of the water with its powerful claws. Although polar bears are excellent
swimmers, they are not fast enough to catch the seals in open water. They have to stay in the ice and
move quickly as soon as the seal shows its head. During the late summer and early fall, when the ice is
melted, they cannot hunt, and so they have to live off their fat reserves and the meager supply of food that
is available.

But the ice is not as stable as it once was. As temperatures rise, the ice is melting earlier in the year. This
means that the bears have a shorter hunting season. They enter the summer thinner an less prepared to
survive. And as the ice melts, it retreats, creating greater distances between one hunting distances and
another. A well-fed polar bear can swim at least 50 miles. But as the distance between hunting areas
increases, and as the bears get thinner, they sometimes drown trying to reach a distant food source.

At the moment, the polar bear population is around twenty to twenty-five thousand worldwide. In some
places the number of polar has gone down significantly over the last 15 to 20 years. Why are there fewer
bears? One reason is that the birth rate is decreasing. Polar bears used to have two or three cubs at one
time, and two-thirds would survive. Now one cub is the norm, and not as many of the cubs survive to
adulthood.

Polar bears are also smaller than they used to be. In the past, an adult male polar bear might weigh up to
1,800 pounds. Now most weigh less than 1,000 pounds. So both males and females have become much
smaller. This could be because bears are thinner, losing weight as their food becomes harder to find. But
their skull sizes are smaller too, suggesting the changes are more permanent, not simply a result of a
short-term change in food supply.

The problems facing the polar bear are potentially disastrous. Scientists are working to better understand
the role of humans are playing in climate change, and what actions can be taken to address its impact.
Conservationists are also trying to come up with ways to help the bears survive despite the shorter
winters. A short-term solution may be to create land refuges for them, because their survival at the
moment depends on the availability of ice and food. If people can provide these magnificent animals with
a safe place to live and find food for a short while, hopefully the polar bear can adopt to this changing
environment.

(Pause — 3 min)

Listening for details

(Repetition of the track)

1. A B C
2. A B C
3. A B C
4. A B C
S. T F
6. T F
7. T F
8. T F
9. T F
10. T F
11. T F
12. T F

13. Possible answer: The team of scientists has been doing research on the polar bears in this area.

14. Possible answer: The population of polar bears is decreasing, and the size of the bears
themselves is also decreasing.

15. Possible answer: As temperatures rise, the ice is melting earlier in the year.

16. Possible answer: To hunt, the bear usually finds an active breathing hole, a gap in the ice used
by seals to take a breath. The bear crouches above the breathing hole, and as soon as seal
surfaces, the bear dashes to the hole and drags the seal out of the water with its powerful claws.

17. Possible answer: The bears have a shorter hunting season. And as the ice melts, it retreats,
creating greater distances between one hunting distances and another.

18. Possible answer: A short-term solution may be to create land refuges for them, because their
survival at the moment depends on the availability of ice and food.

9. | A | B | C |




20. A B C
21. A B C
22. A B C
23. A B C
24. A B C
25. A B C
Reading
Max — 25
Task 1
1. C
2. G
3. B
4, E
5. F
6. A
Task 2
7. T F NS
8. T F NS
9. T F NS
10. T F NS
11. T F NS
12. T F NS
13. T F NS
14. T F NS
15. T F NS
Task 3
16. D
17. C
18. B
19. F
20. E
21. A
Task 4
22, D
23. B
24, B
25. C
Use of English (max - 30)
1. A B C D
2. A B C D
3. A B C D
4. A B C D
5. A B C D
6. A B C D
7. A B C D
8. A B C D
9. A B C D
10.| A B C D




11.

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.

22.

23.
24.
25.




ODPOPMJIEHME makcumym 10 bannos

BAnn COAOEPXAHMUE
O6Lan uTorosas oLLEHKA BbIBOAUTCA HA OCHOBAHUWN KPUTEPUEB,
b| npuBegeHHbIX B Tabauue: KOMNO3ULMA, NEeKCUKa, TPAMMATUKA,
opdorpadua n nyHKTyauusa
WUtoro:
3a makeumym 10 | Komnosuuyun lpammatuka | Opdorpadua
cogep>xaHue
nM.C(l:bF')weHHoro 6annos Jlekcuka M NYHKTyauma
(makcumym 2 (makcumym 3
6anna) (makcumym 3 6anna) (makcumym 2
BbICKa3biBaHW 6 )
q anna 6anna)
9-10 6annos KommyHwMKaTHBH 3 6anna 3 6anna
an 3agava
NONHOCTBIO YyacTHUK YyacTHUK
BbIMO/IHEHA — AeMOHCTpUupyet AeMOHCTpUpyet
copiepKaHme 6oratbIn rpamoTHoe U
PACKPbITO MOJHO NeKCUYeCcKmni ymecTHoe
U TOYHO. 3anac, ynotpebnexue
YUaCTHUK HeobxoaAnMbIit rPaMmaTUYeCcKmX
LEeMOHCTpUpyeT ANA PACKpbITMA | CTPYKTYP B

YMeHUe YeTKo
BblpakaTb CBOE
MHeHue,
aprymeHTMpoBaT
b €ro,
noaKpennatb 2 —
3 npumepamm.
CouynHeHne
COAEPKNUT
BapuaHT
pelweHua
NnocTaB/IEHHOM
3aga4u How sure
are you that the
long-term
consequences
would be
positive?
CouynHeHne
nmeet
BCTYN/IEHUE U
obobuatouee
3aK/t0YeHMe.

TEeMbl, TOYHbIN
BblI6OP CNOB U
ageKkBaTHoe
BNageHue
JNIeKcn4ecKom
COYETaeMOCTbIO

Pabota He
nmeeT oWn6boK
C TOYKW 3peHns
JIeKCUYECKoro
odopmaeHus.

COOTBETCTBUM C
KOMMYHWKATUBH
o 3apaven.

PaboTa He umeer
OWNBOK C TOUKK
3peHuns
rpammaTtmyecKkor
0 opopMIEHUA.




8-7 6annos

KommyHuKaTUBH
as 3ajayva
BbINO/IHEHA —
TEKCT paccKasa
COOTBETCTBYET
3aZ@aHHbIM
napameTpam.
YYacTHUK
LEeMOHCTpUpyet
YMEHUE YETKO
BblpaXkaTb CBOE
MHeHue,
aprymeHTMpoBaT
b €ro,
noAKpennaTb
OAHUM
npMMepom.
CouynHeHne
COAEPHKUT
BapuaHT
peleHun
NnocTaB/IEHHOM
3aga4n How sure
are you that the
long-term
consequences
would be
positive?
CouynHeHne
nmeet
BCTyNAEHME U
obobuatouee
3aK/Il04YEeHMe.

2 6anna

Pabota He
nmeeT owmnboK
C TOYKU 3peHns
KOMMO3MLNN.

CobntogeHa
NIOTUKa

BbICKa3blBaHUA.

CpepcTBa
Nlornyeckomn
cBA3n

NPUCYTCTBYIOT.

Tekct
npaBuIbHO
pa3geneH Ha
ab3aupl.

2 6anna

Y4YyacTHUK
OEeMOHCTpUpyeT
6oraTbil
JNIEKCUYECKUI
3anac,
HeobxoaAnMbIN
ONA PacKpbITUSA
TEeMbl, TOYHbIN
BbI6OP CNOB U
agekBaTHoe
BNageHue
JNIeKCU4YecKom
COYETaeMOCTbIO

B paborte
nmetotca 1-2
He3HauYuTe NbHbI
e (Herpybbie)
IeKcuyeckme
OLWNBKN, He
3aTpyaHAloLme
NOHMMaHMe
TeKcTa.

2 6anna

YyacTHUK
AEeMOHCTpupyeT
rPamoTHOE U
yMecTHoe
ynotpebneHue
rpammaTmMyecknx

CTPYKTYp.

B paborte
nmetotca 1-2
He3HauyuTeNbHble
(Herpybble)
rpammaTtumyeckme
OLWNBKN, He
3aTpyaHAaoLme
NOHUMaHuUe.

2 6anna

YyacTHUK
AEMOHCTpUpyeT
yBepeHHoe
BNageHune
HaBbIKaM#
opdorpadpum n
NYHKTyaLUn.

Pabota He
MMeeT oWMnBOoK ¢
TOYKW 3peHuns
opdorpadpuun. B
pabote moryT
6bITb 1-2
NYHKTYyaLMOHHbI
€ OWWNBKHK, He
3aTpyaHaAoLme
noHMMaHue.




6-5 6annos

KommyHuKaTUBH
an 3aga4va B
uesom
BbINOJ/IHEHA,
OZHaKO nmetoTcA
oTAeNbHbIEe
HeJou4eTbl, Takne
Kak:

- MHEeHMe aBTopa
nMmeeTcA, 04HaKo
OHo cnabo
aprymeHTMpoBaH
o,

- npUMepbl
TO/IbKO

nepeyncneHsbl, Ho
He 0bOCHOBaHbI;

- NIpeanoXeH
BapuaHT
pelleHusa 3a4a4u
OTHOCUTE/IbHO
OTCPOYEHHbIX
nocneacTemin
U3MeHeHUs
NUCTOPMYECKOTO
cobbITUSA, 0A4HAKO
OH nbo He
CBA3aH C
npeablaywmm
coaepkaHuem,
nmbo
NpPoTMBOPEYNUT
W3Ha4yanbHOM
TOYKe 3peHus.
CoynHeHne
nmeet
BCTYN/JIEHUE U
obobuatouee
3aK/oYeHue.




4-3 6anna

KommyHuKaTUBH
as 3afava
BbIMNO/IHEHA
YaCTUYHO.
OTcyTcTByeT
OAMH U3
06s3aTesIbHbIX
31€MEHTOB
COYMHEHMUA:
(scTynnenue /
3aK/loYeHne
/aprymeHTaumsa /
npumepsbl /
BapUaHT
peleHnn
npobaemHol
3a4a4m).
CopeprkaHune
NMMCbMEHHOIO
TEKCTa He
MOJIHOCTbIO
COOTBETCTBYET
334aHHbIM
napameTpam.

2-1

KommyHMKaTUBH
as 3agava
BbIMNO/IHEHA
YaCTUYHO.
OTcyTcTBytOT 2 - 3
13 06A3aTesbHbIX
3N1E€MEHTOB
COYMHEHMURA:
(scTynnenue /
3aK/loYeHne
/aprymenTtauma /
npumepsb! /
BapUaHT
peleHns
npob6aemHom
3a4aun ).
CopeprkaHune
NMCbMEHHOro
TEKCTa He
NOJIHOCTbIO
COOTBETCTBYET
33aHHbIM
napameTpam u
TEMaTUKe.

1 6ann

B uenom tekct
UMeeT YeTKYI0
CTPYKTYpY.
TekcT pasgeneH
Ha ab3aubl. B
TeKcTe
NPUCYTCTBYIOT
cBasyolme
3NIEMEHTbI.
Jonyctnmbl
He3HauYuTe NbHbI
€ HapyLleHua B
CTPYKTYype
n/MAn NOrmNKK
WU CBA3HOCTU
TeKCcTa.

1 6ann

B uenom
NeKkcnyeckme
cpefacTBa
COOTBETCTBYIOT
33JaHHOM Teme,
04 HaKo
nmetoTca
HETOYHOCTH
(owmnbKK) B
BblbOpe cnoB U
JIeKCUYecKom
COYETAaEMOCTU
(3-7), koTopble
He 3aTpygHAT
NMOHMMaHUA
Tekcta un /uan
ncnosb3syeTcs
CTaHAApTHaA,
oAHoobpasHasn
NeKcuKa.

1 6ann

B TekcTte
NPUCYTCTBYIOT
HecKosbko (3-7)
rpaMmaTmyecKmx
owmnboK, He
3aTPYAHAKLNX
obuero
NOHUMaHUSA
TeKcTa.

1 6ann

B Tekcre
NpPUCYTCTBYIOT
opdorpaduueck
ne (1-4) n/wan
MYHKTYaLMOHHbI
e ownbku (3-4),
KOTOpble He
3aTpyaHAloT
obuiero
NOHUMaHMUA
TeKcTa.




CoaeprkaHue He
COOTBETCTBYET
KOMMYHWKaTUBH
ol 3agave
(BbIparkeHo
MHEHMWe Ha
apyryto temy),
mMbo MHeHMe He

BbIPaXKeHo.

0 6annos

TeKcT He nmeeT
yeTKom
JlornyecKkom
CTPYKTYpbI.
OTcyTcTByeT
nan
HenpasuabHO
BbINOJIHEHO
ab3auHoe
usieHeHne
TeKcTa.
MmetoTca
cepbesHble
HapylweHua
CBA3HOCTU
TekcTa u/mnn
MHOTOYMCNEHH
ble OWNOKK B
ynotpebneHum
NIOTUYECKUX
CcpeacTs CBA3W.

0 6annos

YyacTHUK
AEeMOHCTpupyeT
KpanHe
OrpaHUYeHHbIN
CNoBapHbIA
3anac u /uan s
pacckase
nmetoTcn
MHOFOYUCIEHH
ble OLWNOKMK
(bonee 7) B
ynotpebneHnn
NEKCUKHN, B TOM
yncne
3aTpyaHAowme
NoHMMaHue
TeKcTa.

0 6annos

B TekcTte
NPUCYTCTBYIOT
MHOTOYMCNEHHbI
€ OWmnbKM
(bonee 7) B
pa3HbIX
pasgenax
rpaMmaTuKi, B
TOM yncne
3aTpyaHAaoLme
€ro noHMmaHwue.

0 6annos

B Tekcte
MPMUCYTCTBYIOT
MHOTOYUC/IEHHbI
e
opdorpaduueck
ne (bonee 4)
n/mnn
MYHKTYaUMOHHbI
€ oWn6KM
(bonee 4), B Tom
yucne
3aTpygHaowme
€ro NoHVmaHue.




